
HISTOGRAM WAT GEMIDDELDE RESPONSE OP ELKE ITEM AANDUI. 

Histogram: TOTAAL: =(v1+v2+v3+v4+v5+v6+v7+v8+v9+v10+v11+v12+v13+v14+v15+v16+v
N

o 
of

 o
bs

GROEP: 1

�������
���
��
��
��
��
��
��
��

��
��
��
��
��
��
��
��
��

���
���
���
���
���
���
���
���
���
���
���

��
��
��
��
��
��
��
��
��
��
��
��
��
��
��

���
���
���
���
���
���
���
���
���
���
���

0

21

42

63

84

105

126

0.5 1.0 1.5 2.0 2.5 3.0 3.5 4.0 4.5 5.0 5.5
GROEP: 2

��������
���
��
��
��

��
��

0.5 1.0 1.5 2.0 2.5 3.0 3.5 4.0 4.5 5.0 5.5

University of Pretoria.etd


	Grafieke

